
ø7.5

8 Holes ø3.0
on 6.35 (1/4") pitch

15
.0

ø6.2

3 Holes ø6.2

2 Holes ø2.5
Csk 90° ø5.0

65
.0 51

.0 37
.0 9.

4

8 .0

Use M2.5 x 12 Csk
Screw, 2 x Crinkle
Washer,  2 x Nut
(2 off)

DIN Socket Pinout
(from wir ing side)

Use M3 x 6 Csk Hd Screw,
Crinkle Washer & Nut (4 off)

3

2
5 4

1

A C K N O W L E D G E

N O  P O L LR E S E T

P O L L

1 32 4 5

S E N D

6

D E C

7 8

53.7

51.0

31.0

11.0

6.7

Use M3 x 12 Pan Hd Screw,
Crinkle Washer & Nut (4 off)

2 Holes ø16.0

4 Holes ø3.0

Display Filter fitted centrally
over aperture using
Cyanoacrylate adhesive

INC

39.0

52.0

5.0

10
.0

11
.0

8.
5

53 .0

36.0

15.0

11
.022

.0

8 .0

37
.0

75
.0

46 .0

Exist ing Holes
Csk 90° ø6.0

RDD Control  Stat ion Machining,
Assembly & Label l ing

Holes countersunk on this face

Display Fi l ter Material

13
.5

43 .0

Body Baseplate

2 Holes ø3.0
Csk 90° ø6.0
Use M3 x 12 Csk Screw,
Crinkle Washer & Nut
(2 off)

Box Face

M2.5 x 12 Csk Screw
with two nuts & washers

LED

Track Side

Component Side

SRL Mount ing Detai ls

SRL PCB



39
.0

48 .0

46.0

RDD Display Stat ion Machining,  Assembly & Label l ing

95
.0

77
.0

12
.0

9.
4

4 .0

A C K

39.0
Display Filter f i tted centrally
over aperture using
Cyanoacrylate adhesive

Use M3 x 12 Csk Hd Screw,
Crinkle Washer & Nut (2 off)

Use M3 x 6 Csk Hd Screw,
Crinkle Washer & Nut (4 off)

8 .0

Use M3 x 12 Pan Hd Screw,
Crinkle Washer & Nut (4 off)

43 .0

13
.5

16 .0

40.0

16
.0

30 .0°

Display Fi l ter Material

12.0

11
.0

D rill ou t exis ting  sp igots ø3.0 ,
C sk ø6.0  on reverse face (bottom )
(4 off)

Body

2 H oles ø3.0
C sk 90° ø6.0

12
.0

Baseplate

(viewed from wir ing side)
DIN Socket Pinout

22.0

11.0

2 Holes
ø3.0

ø16.0

3

2
5 4

1

2 2
  

Address Switch S1
Sett ing Example

2 2
31 Address 6

0 x 2  =  0

0 x 2  =  0

1 x 2  =  4
1 x 2  =  2

O N

2
1

0

1

0

2

3 4
1

0

 
3

0

1

2


